



A dipstick test combined with urine specific gravity improved the accuracy of proteinuria determination in pregnancy screening

Makihara, Natsuko

(Degree)

博士 (医学)

(Date of Degree)

2010-09-25

(Date of Publication)

2011-12-13

(Resource Type)

doctoral thesis

(Report Number)

甲5107

(URL)

<https://hdl.handle.net/20.500.14094/D1005107>

※ 当コンテンツは神戸大学の学術成果です。無断複製・不正使用等を禁じます。著作権法で認められている範囲内で、適切にご利用ください。



A Dipstick Test Combined with Urine Specific Gravity Improved the Accuracy of Proteinuria Determination in Pregnancy Screening

NATSUKO MAKIHARA¹, MINEO YAMASAKI^{1,2}, HIROKI MORITA¹,
and HIDE TO YAMADA^{1*}

¹*Division of Obstetrics and Gynecology, Department of Surgery-related, and* ²*Division of Integrated Medical Education, Department of Community Medicine and Social Healthcare Science, Kobe University Graduate School of Medicine,*
7-5-1 Kusunoki-cho, Chuo-ku, Kobe, 650-0017, Japan.

Received 12 July 2010/ Accepted 20 August 2010

Key Words: dipstick test, pregnancy proteinuria, protein/creatinine ratio, urine specific gravity

Proteinuria screening using a semi-quantitative dipstick test of the spot urine in antenatal clinic is known to have high false-positive rates. The aim of this study was to assess availability of a dipstick test combined with the urine specific gravity for the determination of pathological proteinuria.

A dipstick test was performed on 582 urine samples obtained from 283 pregnant women comprising 260 with normal blood pressure and 23 with pregnancy-induced hypertension. The urine protein (P) and creatinine (C) concentrations, specific gravity (SG), P/C ratio were determined, and compared with dipstick test results.

The P concentration increased along the stepwise augmentations in dipstick test result. Frequencies of the urine samples with 0.265 or more P/C ratio were 0.7% with – dipstick test result, 0.7% with the ± result, 3.3% with the 1+ result, and 88.9% with the ≥2+ result. However, if the urine specific gravity was low, frequencies of the high P/C ratio were 5.0% with ± dipstick test result and 9.3% with the 1+ result.

A dipstick test result of ≥2+ seems appropriate for a criterion of positive screening for pathological proteinuria in antenatal care. A dipstick test combined with the urine specific gravity may be useful for outpatient clinic screening.

Assessment of proteinuria during pregnancy is clinically important for the diagnosis and classification of pregnancy-induced hypertension, which consists of gestational hypertension (hypertension only) and preeclampsia (hypertension plus proteinuria) –the latter usually has more severe pregnancy complication. Higby et al., demonstrated that protein levels excreted in the 24 hours urine of normal pregnant women were mean 115 mg/day with a normal upper limit of 260 mg/day 1). On the basis of these results, a number of scientific organizations in the world including the Japan Society of Obstetrics and Gynecology 2) adopt 300 mg/day or more protein excreted in the 24 hours urine as a criterion for pathological proteinuria during pregnancy 3-6).

Measurement of protein concentrations in the 24 hours urine is not a simple or easy procedure at an outpatient clinic, so that proteinuria screening at prenatal visits is normally

performed using a dipstick test which detects protein levels semi-quantitatively ($-$, $\pm$, $1+$, $\geq 2+$) in spot urine samples. Some studies reported that when compared with results of the protein amount in the 24 hours urine, positive results ($\geq 1+$) of a dipstick test in the spot urine presented a high rate of false positive for a criterion of pathological proteinuria (≥ 300 mg/day) 7, 8). Recent studies noted the usefulness of measuring the protein/creatinine ratio in the spot urine for the diagnosis of pathological proteinuria during pregnancy 9-12). The International Society for the Study of Hypertension in Pregnancy proposed a criterion for pathological proteinuria as 0.265 mg/mg creatinine or more in the spot urine 3). However, measurement of urine creatinine concentrations at every prenatal visits is difficult in light of medical costs.

It is known that urine creatinine concentrations are well correlated with the extent of urine concentrate and the urine specific gravity. The aim of this study was to assess availability of a dipstick test combined with the urine specific gravity for the determination of pathological proteinuria at an outpatient clinic.

MATERIALS AND METHODS

Two hundred eighty-three pregnant women who received prenatal care and gave births at the Kobe University Hospital were enrolled. The 283 subjects consisted of 260 women with normal blood pressure (non PIH group) and 23 with diagnosis of pregnancy-induced hypertension (PIH group). Women with kidney disorders, diabetes mellitus and gestational diabetes were excluded from the enrollment of subjects. Spot urine samples were collected from the 283 women when they were seen for periodic checkups and proteinuria screening of a dipstick test. A total of 582 spot urine samples were used in this study analyses.

Results of a semi-quantitative dipstick test for proteinuria were evaluated by an automated urinometer (Arkray, Kyoto). The urine specific gravity was measured by the pKa change of polyelectrolytes. The protein (P) concentrations in the urine were measured using a pyrogallol red assay; and the creatinine (C) concentrations in the urine were measured using an enzymatic assay. We confirmed that the pH of the urine samples was less than 7.0, and these samples were negative for the white blood cells using the dipstick tests.

Samples were divided into 4 groups according to the dipstick test results as follows; $-$, $\pm$, $1+$, and $\geq 2+$. P and C concentrations, the urine specific gravity, and the P/C ratio were compared among the groups. A correlation and a regression curve between C concentration and urine specific gravity were examined.

In order to clarify an effect of urinary concentration on the dipstick test result, frequencies of 0.265 or more P/C ratio were also compared among the groups, and between in concentrated and diluted urine with the same dipstick result. The criterion for the degree of urinary concentration in each group except that of ≥ 2 was determined in the following process. 1) The theoretical maximum P concentration in each group was estimated by excluding outliers of P values determined by the Grubbs-Smirnov test for outliers at a level of 1% significance. 2) The C concentration equivalent to yield 0.265 of P/C ratio with each theoretical maximum P was calculated. 3) The urine specific gravity corresponding to each C concentration calculated above was obtained by substituting the C value into the regression curve determined above. 4) Urinary samples with specific gravity higher than the value in each group were regarded as concentrated. The same value of specific gravity determined for the group of $1+$ was used for the group of ≥ 2 .

The dipstick test results of $-$, $\pm$, $1+$, $\geq 2+$ were converted to 0, 0.5, 1, and 2, respectively, in statistical analyses. The statistical analyses were performed using the program

PROTEINURIA SCREENING IN PREGNANT WOMEN

Ekuseru-Toukei (Social Survey Research Information Co., Ltd, Tokyo). $P < 0.05$ was considered as statistically significant.

RESULTS

Semi-quantitative determination using a dipstick test

Dipstick test results of a total of 582 spot urine samples were shown in Table I. The frequency of $\geq 2+$ in PIH group was significantly higher than that in non PIH group (χ^2 test, $p < 0.0001$).

Association between dipstick test results and the P concentration

The P concentrations (mg/dl, mean $\pm$ SD) with dipstick test results of $-$, $\pm$, $1+$, $\geq 2+$ were 2.80 ± 2.39 , 7.59 ± 3.65 , 14.6 ± 8.80 , and 237.4 ± 225.5 , respectively.

In terms of the P concentration, there were significant differences among dipstick test results of $-$, $\pm$, $1+$, and $\geq 2+$ ($p < 0.0001$); among dipstick test results of $\pm$, $1+$, and $\geq 2+$ ($p < 0.0001$); and between dipstick test results of $1+$ and ≥ 2 ($p < 0.0005$). These significances were determined by multiple comparisons using the Kruskal-Wallis and Steel-Dwass tests.

When outliers in the P concentrations from samples with dipstick test results of $-$, $\pm$ and $1+$ were detected at a level of 1% significance, values for 3 samples with $-$ dipstick test result were outliers (12.3, 14.8, and 18.3 mg/dl), values for 2 samples with $\pm$ dipstick test result were outliers (20.9 and 23.9 mg/dl) and a value for 1 samples with $1+$ dipstick test result was an outlier (57.8 mg/dl). If these outliers were excluded, the theoretical maximum urine P concentrations for $-$, $\pm$ and $1+$ samples was 10.6, 19.3, and 35.9 mg/dl, respectively.

Table I. Dipstick test results of a total of 582 spot urine samples

Dipstick test results	Non PIH	PIH	Total
$-$	278	23	301
$\pm$	137	14	151
$1+$	109	12	121
$\geq 2+$	1	8*	9
Total	525	57	582

PIH; pregnancy-induced hypertension

* $p < 0.0001$

Association between dipstick test results and the C concentration

The C concentrations (mg/dl, mean $\pm$ SD) with dipstick test results of $-$, $\pm$, $1+$, $\geq 2+$ were 56.8 ± 37.7 , 125.8 ± 42.0 , 180.3 ± 65.4 , and 149.1 ± 85.7 , respectively. In terms of the C concentration, there were significant differences among dipstick test results of $-$, $\pm$ and $1+$ ($p < 0.0001$); between dipstick test results of $-$ and $\geq 2+$ ($p < 0.0005$); and between dipstick test results of $\pm$ and $1+$ ($p < 0.0001$, multiple comparisons using the Kruskal-Wallis and Steel-Dwass tests).

Association between dipstick test results and the urine specific gravity

The urine specific gravity (mean $\pm$ SD) with dipstick test results of $-$, $\pm$, $1+$, $\geq 2+$ were 1.011 ± 0.007 , 1.020 ± 0.006 , 1.024 ± 0.007 , and 1.020 ± 0.008 , respectively. In terms of the

urine specific gravity, there were significant differences among dipstick test results of $-$, $\pm$ and $1+$ ($p<0.0001$); between dipstick test results of $\pm$ and $1+$ ($p<0.005$); and between dipstick test results of $-$ and $\geq 2+$ ($p<0.005$, multiple comparisons using the Kruskal-Wallis and Steel-Dwass tests).

Association between dipstick test results and the P/C ratio

The P/C ratio (mean $\pm$ SD) with dipstick test results of $-$, $\pm$, $1+$, $\geq 2+$ were 0.056 ± 0.053 , 0.070 ± 0.056 , 0.095 ± 0.105 , and 1.86 ± 1.41 , respectively. In terms of the P/C ratio, there were significant differences between dipstick test results of $-$ and $\pm$ ($p<0.01$); between dipstick test results of $-$ and $1+$ ($p<0.0001$); between dipstick test results of $-$ and $\geq 2+$ ($p<0.0001$); and between dipstick test results of $1+$ and $\geq 2+$ ($p<0.005$, multiple comparisons using the Kruskal-Wallis and Steel-Dwass tests).

Frequencies of the urine samples with 0.265 or more P/C ratio were 2 (0.7%) with $-$ dipstick test result, 1 (0.7%) with $\pm$ dipstick test result, 4 (3.3%) with $1+$ dipstick test result, and 8 (88.9%) with $\geq 2+$ dipstick test result. A total 15 (2.6%) urine samples exceeded 0.265

Table II. Summary of urine data in 15 women with 0.265 or more P/C ratio

Gestational weeks of urine collection	Hypertension present when collected	Complications during delivery	Final diagnosis	Dipstick test results	P/C ratio	Specific gravity	Urine creatinine (mg/dl)	Protein concentration in urine (mg/dl)
28	Y	Y	PIH	$-$	0.491	1.01	30.12	14.8
33	N	N	PIH	$-$	0.359	1.005	28.67	10.3
35	N	N	Non PIH	$\pm$	0.513	1.006	13.06	6.7
35	Y	Y	PIH	$1+$	0.657	1.01	51.32	33.7
36	Y	N	PIH	$1+$	0.52	1.01	61.5	32
37	Y	N	PIH	$1+$	0.278	1.018	121.19	33.7
33	N	N	Non PIH	$1+$	0.763	1.011	75.75	57.8
34	Y	Y	PIH	$2+$	0.682	1.016	114.85	78.3
35	Y	Y	PIH	$2+$	0.982	1.01	88.47	86.9
36	Y	Y	PIH	$2+$	0.619	1.016	124.79	77.3
29	Y	Y	PIH	$3+$	4.157	1.021	45.06	187.3
33	Y	Y	PIH	$3+$	3.264	1.035	114.56	373.9
37	Y	N	PIH	$3+$	1.504	1.025	305.9	460
38	Y	N	PIH	$3+$	2.805	1.013	153.81	431.4
37	Y	N	PIH	$4+$	2.663	1.031	245.75	654.5

PIH; pregnancy-induced hypertension

PROTEINURIA SCREENING IN PREGNANT WOMEN

P/C ratio. Thirteen of the 15 samples were obtained from PIH women, whereas the other two were from non PIH women (Table II).

Association between the urine specific gravity and the C concentration

There was positive correlation between the urine specific gravity and the C concentration ($r = 0.841$, $p < 0.0001$). With the urine specific gravity on the y-axis and urine C concentration on the x-axis, the regression line was $y = 1.0061293 + 0.0001199x - 3.9038e-7x^2$.

Comparison of frequencies of 0.265 or more P/C ratio based on the urine specific gravity and dipstick test results

As mentioned above, the theoretical maximum urine P concentrations for –, ± and 1+ dipstick test results were 10.6, 19.3, and 35.9 mg/dl, respectively. The corresponding urine C concentrations to result in P/C ratio of 0.265 were 40.0 for – dipstick test result, 72.8 for ±, and 135.5 mg/dl for 1+. When these values were substituted in the regression curve for the urine C concentration and urine specific gravity, the urine specific gravity corresponding to each urine C concentration was 1.0094 for – dipstick test result, 1.0145 for ±, and 1.0219 for 1+.

Frequencies of samples with 0.265 or more P/C ratio were compared according to each group of dipstick test result between low and high urine specific gravity specimens (Table III). There was statistical significance in the frequency between low and high urine specific gravity in the group of 1+ ($p = 0.0145$, Fisher's exact test).

DISCUSSION

Brown and Buddle reported that, in pregnant women with hypertension, incidences of false negative (– or ± result on the dipstick test but 300 mg/day or more protein in the 24 hours urine) and false positive ($\geq 1+$ result on the dipstick test but less than 300 mg/day in the 24 hours urine) in dipstick test results of the spot urine were 14% and 62%, respectively 7). Therefore, numerous investigators suggested that a collection of 24 hours urine and measurement of the protein concentration are needed for the definite diagnosis of pathological proteinuria in pregnancy.

However, a 24-hour urine collection is not a simple or easy procedure at an outpatient clinic, so a preferable method of assessing whether or not pathological proteinuria is present would be to use spot urine samples. The current study found that when results of screening with a dipstick test were 1+, 96.7% of those came from urine samples with a P/C ratio that did not exceed 0.265, the criterion for diagnosing proteinuria using spot urine samples as proposed by the International Society for the Study of Hypertension in Pregnancy. In contrast, $\geq 2+$ dipstick test results identified 88.9% of samples with a P/C ratio exceeding 0.265. Thus, the $\geq 2+$ dipstick test can be clinically used for the detection of pathological proteinuria in pregnancy screening. With this criterion, however, false negative percentages of –, ±, and 1+ dipstick test results were found to be 0.7, 0.7, and 3.3%, respectively. These frequencies cannot be negligible, especially in the group of 1+.

Endo et al., reported mean urine P concentrations of 2.9 for samples with – dipstick test result, 13.3 for the ± result, 30.4 mg/dl for the 1+ result, in non-pregnant individuals 13). In the current study, the mean urine P concentrations with dipstick test results of ± (7.59) and + (14.6 mg/dl) in pregnant women was considerably lower. In pregnant women, color changes on the dipstick may occur at a lower concentration of urine protein than that for non-pregnant individuals. During pregnancy, the partial pressure of carbon dioxide in arterial blood is known to decrease approximately 5-10 mmHg when compared with non pregnant status,

leading to respiratory alkalosis, so that the kidneys compensate by eliminating more bicarbonate 14). Patients with obvious alkaluria were excluded from the current study, but pregnant women may have urine with a higher pH than non-pregnant individuals due to pregnancy-induced changes in the acid-base balance, and this may consequently affect the results of a semi-quantitative determination of urine protein using the dipstick test.

Table III. Comparisons of frequencies of samples with 0.265 or more P/C ratio between low and high urine specific gravity specimens in each dipstick test result

<u>Dipstick(–)</u>			
Specific gravity	1.009 or less	1.010 or more	total
Total sample numbers	142	159	301
High PC ratio sample numbers (%)	1 (0.70%)	1 (0.63%)	2 (0.66%)
<u>Dipstick(±)</u>			
Specific gravity	1.014 or less	1.015 or more	total
Total sample numbers	20	131	151
High PC ratio sample numbers (%)	1 (5%)	0	1 (0.66%)
<u>Dipstick(1+)</u>			
Specific gravity	1.021 or less	1.022 or more	total
Total sample numbers	43	78	121
High PC ratio sample numbers (%)	4 (9.3%)*	0*	4 (3.3%)
<u>Dipstick(2+, more)</u>			
Specific gravity	1.021 or less	1.022 or more	total
Total sample numbers	5	4	9
High PC ratio sample numbers (%)	5 (100%)	3 (75%)	8 (89%)

*: $p=0.0145$, Fisher's exact test

This study revealed that the extent of urine concentration, i.e. the urine specific gravity and the urine C concentration, were closely related to dipstick test results. The greater the extent to which urine is concentrated, the more likely the dipstick test might be positive. Additionally, the urine specific gravity and the urine C concentration were correlated. Thus, the regression curve for the urine specific gravity and the urine C concentration allowed estimation of the urine C concentration based on urine specific gravity. Urine glucose affects urine specific gravity 15), so women with diabetes mellitus or a pregnancy complicated by

PROTEINURIA SCREENING IN PREGNANT WOMEN

gestational diabetes were excluded from the current study. Detection of statistical outliers in the current study allowed the upper limit for the urine P concentration in samples to be estimated to be 10.6 mg/dl for samples with – dipstick test result, 19.3 mg/dl for the ± result, and 35.9 mg/dl for the 1+ result. On the regression curve, values of urine specific gravity corresponding to the urine C concentrations to result in P/C of 0.265 were calculated to be 1.0094 for samples with – dipstick test result, 1.0145 for the ± test result, and 1.0219 for the 1+ result. According to the comparison of incidence of true proteinuria between samples of high and low specific gravity in each group of the same dipstick test result, urine with higher specific gravity showed significantly higher incidence of negative result for proteinuria in the group of 1+. Therefore, samples with 1+ dipstick test result can be considered to indicate a negative result of screening only if the specific gravity of the sample is 1.022 or more. Conversely, those with 1.021 or less specific gravity should be further assessed for pathological proteinuria. As only one sample with dipstick ± was positive for proteinuria, the comparison between high and low urine specific gravity is not so informative as in those with dipstick 1+. However, it may be reasonable to pay some attention in evaluating the significance of proteinuria screening in cases with dipstick ± and with specific gravity of 1.014 or less. Thus, a dipstick test combined with the urine specific gravity may be useful for outpatient clinic screening.

In this study, 2 samples had a P/C ratio exceeding 0.265 with –dipstick test result. The both samples were obtained from women with final diagnosis of PIH. Therefore, we have to pay attention to possibility of latent proteinuria in women with hypertension and/or other related findings even when a dipstick test result is negative.

In conclusion, first, because women with ≥2+ dipstick test results have a high incidence of 0.265 or more P/C ratio, they should be examined carefully. Second, women with 1+ dipstick test result plus 1.021 or less specific gravity should be further assessed for pathological proteinuria. Third, the potential for 0.265 or more P/C ratio cannot be discounted in women presenting with hypertension at urine sampling even when a dipstick test result is negative.

ACKNOWLEDGEMENTS

This study was supported in part by 2007-2009 research grants from the Ogyaa Donation Foundation.

REFERENCES

1. **Higby K, Suiter CR, Phelps JY, et al.** 1994. Normal values of urinary albumin and fetal protein excretions during pregnancy. *Am J Obstet Gynecol* **171**: 984-989.
2. **Perinatal Committee, Japan Society of Obstetrics and Gynecology.** 2004. Committee Recommendations. *J Obstet Gynaecol Research*. **56(4)** prefatory notes in vols.: 12-13.
3. **ACOG technical bulletin Hypertension in pregnancy.** 1996. *Int J Gynecol Obstet*. **53**: 175-183.
4. **Brown MA, Lindheimer MD, de Swiet M, et al.** 2001. The classification and diagnosis of the hypertensive disorders of pregnancy: Statement from the International Society for the Study of Hypertension in Pregnancy (ISSHP). *Hypertens Pregnancy*. **(1)**: ix-xiv.
5. **Report of the National High Blood Pressure Education Program Working Group on High Blood Pressure in Pregnancy.** 2000. *Am J Obstet Gynecol* **183**: S1-S22.

6. **Brown MA, Hague WM, Higgins J, et al.** 2000. The detection, investigation and management of hypertension in pregnancy: Full consensus statement. *Aust N Z J Obstet Gynaecol* **40**: 139-155.
7. **Brown, MA and Buddle, RN.** 1995. Inadequacy of dipstick proteinuria in hypertensive pregnancy. *Aust NZ J Obstet Gynaecol.* **35**: 366-369.
8. **Meyer, NL et al.** 1994. Urinary dipstick protein: a poor predictor of absent or severe proteinuria. *Am J Obstet Gynecol.* **170**: 137-141.
9. **Neithardt AB, Dooley SL, Borensztajn J.** 2002. Prediction of 24-hour protein excretion in pregnancy with a single voided urine protein-to-creatinine ratio. *Am J Obstet Gynecol.* **186**: 883-886.
10. **Rodriguez-Thompson D, Lieberman ES.** 2001. Use of a random urinary protein-to-creatinine ratio for the diagnosis of significant proteinuria during pregnancy. *Am J Obstet Gynecol.* **185**: 808-811.
11. **Robert M, Sepandj F, Liston RM, et al.** 1997. Random protein-creatinine ratio for the quantitation of proteinuria in pregnancy. *Obstet Gynecol.* **90**: 893-895.
12. **Cote, A=M, Brown MA, Lam E, et al.** 2008. Diagnostic accuracy of urinary spot protein:creatinine ratio for proteinuria in hypertensive pregnant women: systematic review.*BMJ.* **336**: 1003-6.
13. **Endo T, Komiya T, Yonemoto S, et al.** 2008. Combining the use of dipstick protein and specific gravity accurately predicts pathological proteinuria in Japan. (In Japanese) *Jap J Nephrol.* **50(7)**: 934-941.
14. **Gordon MC.** 2007. Maternal physiology. p55-84, In Gabbe SG, Niebyl JR, Simpson JL.(eds.) *Obstetrics: Normal and Problem Pregnancies.* 5th ed., Elsevier Churchill Livingstone. Philadelphia, USA.
15. **Wilson DM, Anderson RL.** 1993. Protein-osmolality ratio for the quantitative assessment of proteinuria from a random urinalysis sample. *Am J Clin Pathol.* **100**: 419-424.